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Math 1501
Derivative of f(x) = Sinx
Show that 
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c) Algebraically

a) Numerically    
(
[image: image2.wmf]x

 is in radians)


[image: image3.wmf]x



[image: image4.wmf]x

x

sin



0.1
0.998


0.01
1.00


0.001
1.000

     --------------------------------


-0.1
0.998


-0.01
1.000


-0.001
1.000

 
[image: image5.wmf]\



[image: image6.wmf]1

sin

lim

0

=

®

x

x

x


b) Geometrically
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c) Algebraically
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Show that: 
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Show using Fermat’s Definition of Derivatives that:
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But from Eq. (1) we have 
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And from Eq. (2) we have 
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